TITLE: 2019 STORM DAMAGE REPAIRS ON ORR SPRINGS ROAD, CR 223, M.P. 39.20									1 MENDOCINO 223
ADVI	ERTISED DATE: October 17, 2019	BID O	PENING	DATE: Noven	nber 7, 2019				
PREP	ARED BY: Jannaliese Blundell		DATE:	11/8/2019	CHECKED BY:	Alicia Meier		DATE:	11/8/2019
		Coleman Enviornmental				ENGINEER'S ESTIMATE		Wylatti Resource Managen Inc. NO. 2	
			1	NO. 1 UNIT		UNIT		UNIT	
NO	DESCRIPTION	UNIT	OTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
		THEE	111100111						
1	Mobilization	LS	1	\$8,456.00	AD, M.P. 39.20 \$8,456.00	\$10,000.00	\$10,000.00	\$19,648.91	\$19,648.91
2	Construction Area Signs	LS	1	\$3,744.00	\$3,744.00	\$2,000.00	\$2,000.00	\$4,633.52	\$4,633.52
3	Traffic Control	LS	1	\$14,880.00	\$14,880.00	\$5,000.00	\$5,000.00	\$11,040.73	\$11,040.73
4	Water Pollution Control	LS	1	\$1,150.00	\$1,150.00	\$2,000.00	\$2,000.00	\$3,372.08	\$3,372.08
5	Clearing and Grubbing	LS	1	\$6,684.00	\$6,684.00	\$4,000.00	\$4,000.00	\$1,848.56	\$1,848.56
6	RSP (1/2 TON, Method A)	TON	1600	\$69.80	\$111,680.00	\$110.00	\$176,000.00	\$81.13	\$129,808.00
7	RSP Fabric (Class 8)	SY	775	\$2.28	\$1,767.00	\$4.00	\$3,100.00	\$10.98	\$8,509.50
8	Hydroseed	SY	1336	\$4.66	\$6,225.76	\$6.00	\$8,016.00	\$6.18	\$8,256.48
9	Permanent Erosion Control Establishment	LS	1	\$288.00	\$288.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
☆	Total: DBE Goal: Corrected Amount				\$154,874.76 96%		\$220,116.00 9%		\$191,117.78 🛠 8%
10	Bid Additive (Supplemental) Add'l Permanent Erosion Control Establishment	SY	1336	\$4.66	\$6,225.76	\$5.00	\$6,680.00	\$6.18	\$8,256.48
	Total:				\$161,100.52		\$226,796.00		\$199,374.26

## BID SUMMARY

CONTRACT NO. 190036

S:\SharedWP\ENGINEERING PROJECTS\\_Storm Damage\2019 Storm Damage\ER\Orr Springs Road, CR223, MP 39.20\07\_Construction\01\_ Contract\Award\190036 Award Bid Sum.xls

## Sheet 1 of 4

Sheet 2 of 4

### **BID SUMMARY**

### TITLE: 2019 STORM DAMAGE REPAIRS ON ORR SPRINGS ROAD, CR 223, M.P. 39.20

# CONTRACT NO. 190036 DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 223

ADVERTISED DATE: October 17, 2019

PREPARED BY: Jannaliese Blundell

BID OPENING DATE: November 7, 2019

DATE: 11/8/2019 CHECKED BY: Alicia Meier

DATE: 11/8/2019

			Rege Construction, Inc.		ENGINEER'S ESTIMATE		Mendocino Construction Services, Inc.		
			NO. 3				NO. 4		
NO.	DESCRIPTION	UNIT	OTY.	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
NO.	DESCRIPTION	UNII		-	AMOON1 DAD, M.P. 39.20	TRICE	AMOUNT	TRICE	AMOUNT
1	Mobilization	LS		\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
2		LS	1	\$13,000.00	\$13,000.00		\$2,000.00	\$1,200.00	\$10,000.00
3	Construction Area Signs Traffic Control	LS	1	\$3,400.00	\$9,500.00		\$2,000.00	\$1,200.00	\$1,200.00
	Water Pollution Control	LS	1		. ,			-	
4		LS	1	\$12,000.00	\$12,000.00		\$2,000.00	\$2,015.00	\$2,015.00
5	Clearing and Grubbing		1	\$1,250.00	\$1,250.00	\$4,000.00	\$4,000.00	\$8,800.00	\$8,800.00
6	RSP (1/2 TON, Method A)	TON	1600	\$75.00	\$120,000.00		\$176,000.00	\$105.00	\$168,000.00
7	RSP Fabric (Class 8)	SY	775	\$13.00	\$10,075.00	\$4.00	\$3,100.00	\$3.00	\$2,325.00
8	Hydroseed	SY	1336	\$5.00	\$6,680.00		\$8,016.00	\$6.50	\$8,684.00
9	Permanent Erosion Control Establishment	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00
	Total:				\$187,905.00		\$220,116.00		\$224,024.00
	DBE Goal:				3%		9%		9%
☆	Corrected Amount				570		270		270
~									
	Bid Additive (Supplemental)								
10	Add'l Permanent Erosion Control Establishment	SY	1336	\$15.00	\$20,040.00	\$5.00	\$6,680.00	\$25.00	\$33,400.00
					, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	++++++		+	
	Total:				\$207,945.00		\$226,796.00		\$257,424.00
					,,		,		,

Sheet 3 of 4

### BID SUMMARY

## TITLE: 2019 STORM DAMAGE REPAIRS ON ORR SPRINGS ROAD, CR 223, M.P. 39.20

CONTRACT NO. 190036 DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 223

ADVERTISED DATE: October 17, 2019

BID OPENING DATE: November 7, 2019

PREPARED BY: Jannaliese Blundell

DATE: 11/8/2019 CHECKED BY: Alicia Meier

DATE: 11/8/2019

				Granite Construction Company		ENGINEER'S ESTIMATE		Team Ghilotti, Inc.		
		NO. 5				NO. 6				
				UNIT		UNIT		UNIT		
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
ORR SPRINGS ROAD, M.P. 39.20										
1	Mobilization	LS	1	\$28,500.00	\$28,500.00	\$10,000.00	\$10,000.00	\$28,120.00	\$28,120.00	
2	Construction Area Signs	LS	1	\$7,500.00	\$7,500.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	
3	Traffic Control	LS	1	\$54,792.00	\$54,792.00	\$5,000.00	\$5,000.00	\$5,800.00	\$5,800.00	
4	Water Pollution Control	LS	1	\$7,000.00	\$7,000.00	\$2,000.00	\$2,000.00	\$12,750.00	\$12,750.00	
5	Clearing and Grubbing	LS	1	\$17,500.00	\$17,500.00	\$4,000.00	\$4,000.00	\$14,500.00	\$14,500.00	
6	RSP (1/2 TON, Method A)	TON	1600	\$98.00	\$156,800.00	\$110.00	\$176,000.00	\$126.00	\$201,600.00	
7	RSP Fabric (Class 8)	SY	775	\$6.00	\$4,650.00	\$4.00	\$3,100.00	\$25.00	\$19,375.00	
8	Hydroseed	SY	1336	\$8.00	\$10,688.00	\$6.00	\$8,016.00	\$4.05	\$5,410.80	
9	Permanent Erosion Control Establishment	LS	1	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$17,400.00	\$17,400.00	
	Total:				\$289,930.00		\$220,116.00		\$307,455.80	
	DBE Goal:				23%		9%		10%	
☆	Corrected Amount									
	Bid Additive (Supplemental)									
10	Add'l Permanent Erosion Control Establishment	SY	1336	\$9.50	\$12,692.00	\$5.00	\$6,680.00	\$7.25	\$9,686.00	
10	Add i remailent Erosion Control Establishinent	51	1550	\$9.30	\$12,092.00	\$5.00	φ <b>0,060.00</b>	φ1.23	\$9,000.00	
	Total:				\$302,622.00		\$226,796.00		\$317,141.80	
	i otal.				φ502,022.00		φ220,790.00		φ517,141.00	
L		1	l							

Sheet 4 of 4

### **BID SUMMARY**

# TITLE: 2019 STORM DAMAGE REPAIRS ON ORR SPRINGS ROAD, CR 223, M.P. 39.20

CONTRACT NO. 190036 DISTRICT: 1 COUNTY: MENDOCINO ROUTE: 223

ADVERTISED DATE: October 17, 2019

BID OPENING DATE: November 7, 2019

PREPARED BY: Jannaliese Blundell

DATE: 11/8/2019 CHECKED BY: Alicia Meier

DATE: 11/8/2019

			Ghilotti Construction Company, Inc. NO. 7		ENGINEER'S ESTIMATE		
		1		UNIT	0.7	UNIT	
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT
			· ·	AD, M.P. 39.20		THEE	11.100111
1	Mobilization	LS	1	\$34,000.00	\$34,000.00	\$10,000.00	\$10,000.00
2	Construction Area Signs	LS	1	\$500.00	\$500.00	\$2,000.00	\$2,000.00
3	Traffic Control	LS	1	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00
4	Water Pollution Control	LS	1	\$16,000.00	\$16,000.00	\$2,000.00	\$2,000.00
5	Clearing and Grubbing	LS	1	\$20,000.00	\$20,000.00	\$4,000.00	\$4,000.00
6	RSP (1/2 TON, Method A)	TON	1600	\$140.00	\$224,000.00	\$110.00	\$176,000.00
7	RSP Fabric (Class 8)	SY	775	\$2.00	\$1,550.00	\$4.00	\$3,100.00
8	Hydroseed	SY	1336	\$7.50	\$10,020.00	\$6.00	\$8,016.00
9	Permanent Erosion Control Establishment	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
☆	Total: DBE Goal: Corrected Amount				\$346,070.00 12%		\$220,116.00 9%
10	Bid Additive (Supplemental) Add'l Permanent Erosion Control Establishment Total:	SY	1336	\$11.50	\$15,364.00 \$361,434.00	\$5.00	\$6,680.00 \$226,796.00